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ENGINEERING & MANAGEMENT EXAMINATIONS. JUNE - 2009

MICROPROCESSOR AND MICROCONTROLLER
, SEMESTER - 6 ‘

Time : 3 Hours ] | [ Full Marks : 70

; GROUP - A
( Muitiple Choice Type Questions )

1. | Choose the correct alternatives for any ten of the following : . : 10x 1= iO
i)  The number of register pairs of 8685' microprocessor are
‘a) -3 | , ‘ b) 4 |
0 2 & s ]
i) When the ;rlstmction SHLD is executed, number of T-states required are

‘a) 10 v b)) 14

o 13 | d 15. | | ]

i) If the crystal with 8085 is 2 MHz, the time required to execute an instruction of
20 T-states is '

@ 20ps b)  10us |
.c) 40us . : | d) 5 us. | o [:]
ivy PSWisa/an ’
é) 16 bit register | - b) 32 bit register
c) 8 bit register A none of these. ]
v)  Mode 5 of 8253 is/an |

a) rate generator b) square wave generator

c)  hardware triggered strobe d) software triggered strobe. [: ‘
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vi) An 8-bit A/D converter has a resolution of
a 2t | n  y2* -
o 122 a  12°. ' N

- vii) .Fbr 8255 PPI, the bi-dircctlonal_- mode of operation is supported in

a)  Mode 1 b) - Mode 2

c) ModeO | ~d)  etther@or (). ]
| vﬁi) "When the subroutine is called the address of the instruction next t.o ‘CALL’ is

save in ' '

a) “stack peinter register b) program counter.

¢) stack -~ d)  PSW. | E:]
ix) HKa DMA requést is sent to the microprocessor with a high signal to the HOLD

pin, the microprocessor acknowledge the request

a) ~ after completirig the present cycle

t')) - immedjately after receiving the signal

c) ~ after completing the progi'_am .

d) noneof theée. g ' - , l:]
x) 8086 is called 16-bit .microproééssor because

a)  its data bus is 16 bit b)  its address bus is 16 bit

‘¢)  its accumulator is 16 bit d)  itsmemoryis 16 bit. - [:]

xi) In order to enable TRAP interrupt,” which of the following instructions are

‘needed ?. _
a) | El only - b) SiMonly
c) - both EI afld SIM - d) None of these. T [:—_]
_xii) The vectored address éorrespbnding to the software interrupt comménd RST 7 in
8085 microprocessor is , - '
a) 0017H b} 0027H
) oosan' L d  O700H. - ]
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xlii) In an 8085 microprocessor which one of the following is the correct sequenee of

-the machine cycle for the execution of DCR M instruction ? -

a) op-code fetch
b)  op-code fetch, memory read, memory write

c) .op-code fetch, memory read

d) op- code fetch memory write. memory read

U

‘xiv) A microprocessor is sald to be of 8- blt 16-bit etc. depending on its
a) databus - b) address bus ‘
- * . av )
c) - ALU - d) - control bus. [:]

xv) The total I/0 space available in 8085 if used peripheral mappcd 1/01is

a) 64 b) 128 _

c) 256 4 512 1

GROUP - B
( Short Answer Type Questions )
Answer any three of the following quesﬂons. 3x5=15
How does ALE s'lgnal demulﬁplex the ADy;-AD, bus ? Explain with diagram. 5
5

- Draw the timing diagram of ‘IN’ instruction.

Write an assembly language programme that display of the square of a number and its

\‘correspondmg address from a LOOK-up table.

‘-‘a) :

b)

 Define instruction cycle and machine cycle.

5

1+1

Specify the register contents and the flag status when the following instructions

are executed :
MVI A, F2H
ADD A

MVI B, 7AH
ADCB

LXID, 59A2H

LXI H, A259H
XCHG
MOV C,L

_ If the initial contents of Reg A = 00H, B=FFH, S§=0,Cy=1,Z=1
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6. What is the function of the instruction “SHLD" ? Calculate the time required to execute
the Opcode Fetch, Memory Read Cycles and the entire Instruction Cycle of the

instruction “SHLD 2222H" if clock freq. is 2 MHz. -~ 2+3
GROUP -C
( Long Answér Type Questions )
Answer any three of the following questions. ' 3x15=45

7. a) What are the differences between a microprocessor and a mlcrocontrollerA ?

b)  Discuss the memory organization of 8051 microcontroller. What is the funetion of

£

program status word ( PSW ) in 8051 ?
c)  What is the role of SFRs in 8051 microcontroller ? Explain.

d)  Write an 8051 assembly language program to add two 16-bit no. ’
' - 2+(4+3)+3+3

8. a) What are the differences between 8086 pp and 8085 up ?
b)  How many operating modes does 8086 has ? Discuss them in brief.
c)  What do you mean by ‘segmented memo{'y in 8086 up ?

d) What are the differences between the physi’cél address and logical address of an

instruction ? ' , ' 4+6+3+ 2
9. a) List the operatmg' modes of the 8255 programmable peripheral interface.
b) ~ Write the control wvo'rd format of 8255 for 1/0 mode.
c) Wx;lte'the BSR control word of 8255 to-sét PC7, PC3 & PCO.

d) Discuss the steps for data transfer process between a floppy disk and R/W

memory of 8085 system using DMA.
e) Describe the different modes of operation of 8253 timer. - "1+43+3+4+4

[6785 (11/086) ]
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10. a) What are the main functions of BIU and EU ? How does this separation in umts

speecs up the processing ?

b) What are the major segments in memory of an 8086 microprocessor system ?

‘What are their functions ?
c) What is minimum and maximum mode of 8086 microprocessor ?

yd) With example state the generation of 20 bit physical address in context to
8086 up. . | 5444343

11. Writé shoxft notes on any three of the following : - o 3x5
a) Tr stats devicss
b) ‘RAL andRRC instrucﬁqn.s..
¢ Mode of 82.55; o | | Ny
d) 8254 programmable Interval Timer.

e) Serial operation using 8085.

END
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